














Here are a few more questions I'd like you to think about if you ever have a moment. 
  
1.  We determined that Rake processing produces sufficient statistics?  Does this mean that the 
conventional Rake receiver is optimum?  If so, in what sense and for what environment? 
  
2.  In our toy system of Section 2.5, the signal space had dimensionality 2 for convenience in 
sketching.  If it were 3 (e.g., because of 3 chips/symbol or because of 3 antennas), then: 
  
(a)  How many users can you support with zero forcing?  Is this a hard limit? 
  
(b)  How many users can you support with MMSE?  Is this a hart limit or a practical limit? 
  
(c)  Is there a limit, soft or hard, on the number of users you can support with ML detection? 
  
(d)  If the signals are linearly dependent, e.g., v3 is expressible as a linear combination of the 
other two, can ZF separate them?  Can MMSE?  Can ML? 
  
(e)  In a special case of linearly dependent signals, where two of them are colinear and the third 
is linearly independent of the other two, what can zero forcing salvage?   
  
 


